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General Instructions :

(1)

(i)

(ii)

(iv)

v)

Preparatory Course in Mathematics (OMT-101) Questions 1-50.
All questions are compulsory.
The Question Paper consists of 50 questions each of which carries one mark.

Each question has four alternatives one of which is correct. Write the SI. No, of
your correct alternatives/answers below the corresponding question number in the
answer sheet and then mark the rectangle for the same number in that column. If
you find that none of the given alternatives is correct then write 0 and mark in
column 0.

Do not waste time in reading the whole question paper. Go on solving questions
one by one. You may come back to the left out questions, if you have time at the
end.

Use of calculators is not allowed.
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(i)
(i)

(iv)

(v)
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1. 3 men take 8 days to build a wall. In how many days will 8 men build a similar wall ?

3 8
(1) 3 days (2) 3 days (3) 3 days (4) 4 days

2. The LCM of 18 (=2x3x3), 12 (=2x2x3), 42 (=2x3x7) and 126 (=2x3x3x7) is :

(1) 2x3x7 (2) 2X2x3x7 (3) 2x3x7x7 (4) 2X2XxX3x3x7

3. (4»1—~3l)is:
2 3

1 : 2 : 3 z 4) 1 &
M 3 @ G) 3 @ 1
4. If the integer n is odd, which one of the following is odd ?
(1) n+1 (2) mn-—1 (3) 3n+1 (4) 4n+1
5.  Which of the following terms is not used to represent mathematical statements ?
(1) Theorem (2) Axiom (3) Postulate (4) Process
6.  Find the value of 4+6-(7—4).
1 = 2) 6 3 o 4 o
7.  The smallest of the following numbers is :
2 3 4 3 11 4 1 11
2 = of — 2) 11 = of — 4 — of — 3 — of —
) 230y @) 55 @) tgofy ) Sty
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10.

11.

12.

13.

14.

15.

Where will 3 - 1416 be on the number line ?
(1) Between whole numbers 3 and 4

(2) Between integers —3 and —4

22
(3) At the location where rational number — lies

(4) Between 3.5 and 4.5

The system of writing numerals used today is :
(1) Hindu— Arabic numeral system (2) Binary system
(3) British system of numbers (4) Indian numeral system

In school 10 children wear blue shirts, 25 wear green shirts, 30 red shirts and the rest of the
children 35 in number wear yellow shirts. What percentages of the children wear red
shirts ?

(1) 28.7% (2) 39.4% (3) 10.0% (4) 30.0%
The of a fraction shows the total number of parts into which the whole is divided.
(1) Numerator (2) Denominator (3) Whole (4)  Unit

The mathematician who built geometry is :

(1) Pythagoras (2) Bhaskara (3) Aryabhatta (4) Euchd
q P
M) -pq @ Pq @ p*-q’ 4 p-q

In how many ways can 5 sportsmen be selected out of 10 sportsmen ?
(1) 242 (2) 252 (3) 272 (4) 282

The next term in the sequence $ 113 is :

16°8 1218

1 1 3
0 = @ 3 6 3 (4)

WIN
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16.

17.

18.

19.

20.

21.

22,

23,

24.

The middle term in the expansion of (xy+3)10 s :
1) (y+3)° (2)  C(10,5) (xy)°3°
(3) C (10, 6) (xy)6 3* (4)  C (10, 6) (xy)*38

Which of the following is a GP ?

1
1) 2,6, 18, 24, @ 2551, 3,
3) 2,4,68, @) 3,9, 81, 729,

If (23x52x74)3x (24x72)2=23x 5P X 7¢ then :

(1) a=17,b=6,c=16 (2) a=17,b=5,c=16
(3) a=43,b=8, c=68 (4) a=17,b=6, c=48
1 1 9
1)2 1)”5 2
= = 64) 3 =
(16) (8 (64)73
1 = 2) 277 3 = 4 1
1) 32 (2) (3) o4 (4)

When the terms of a G.P. are written in reverse order, the sequence formed is ?
(1) A.P. (2) G.P. (3) H.P. (4) Fibonacci sequence

If the sum of five numbers in A.P. is 150, then the middle number is :
(1) 50 (2) 10 (3) 30 (4) 60

Approximate value of (0.99)° up to 3 decimal places is :
(1) 1.000 (2) 0.950 (3) 0.951 (4) 1.001

Degree of polynomial x%y%z +x*+ 1% +x22 is :
(1 5 (2) 4 3y 3 4) o

The common ratio of the G.P. 256, 64, 16, 4, is.

G¢) 1 4) 12

1
1 4 @ 5
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25.

26.

27.

28.

29.

30.

31.

O is the centre of a circle of diameter 10 cms. If A is a point such that OA =6 cms, then A’s
position is :

(1) Not determinable with above data (2) Inside the circle

(3) On the circle (4) Outside the circle

How many axes of reflection symmetry does an isosceles triangle, which is not an equilateral
triangle, have ?
(1) 4 2y 3 3 2 4) 1

Volume of a cone of radius 10 cm. and height 21 cm. is :
(1) 2200 cu. cm. (2) 6600 cu. cm. (3) 210 cu. cm. (4) 4620 cu. cm.

If co-ordinates of points P are (=5, —1) then :

(1) distance of P from x-axis is 5 and it lies above x-axis
(2) distance of P from x-axis is 5 and it lies below x-axis
(3) distance of P from y-axis is 1

(4) distance of P from y-axis is 5

The lines lying in different planes which do not intersect are called :
(1) parallel lines (2) skew lines

(3) perpendicular lines ~ (4) concurrent lines

The number of line segments in the following figure is.

A D

o)

0
1) 10 @) 6 3) 8 4) 4

The line joining (1, 2) and (1, 3) is :

(1) parallel to x-axis

(2) parallel to y-axis

(3) neither parallel to x-axis nor parallel to y-axis
(4) passes through the origin

OMT-101 7 P.T.O.



32. 1f (2, —1) is the mid point of the joint line joining P and (-1, 5), then P has co-ordinates.

W (32 @ 6 -7 © @—3) (4) (-7,

33.  The cost of a rectangular field of length 300 m. and breadth 200 m. at the cost of Rs. 5000 per
hectare is :

(1)  Rs. 30,000 (2) Rs.3,00000 (3) Rs.30,00,000 (4) Rs. 12,000

34.  Which one of the following points lies in III'd quadrant ?

1

(1) (=6 -9 @ @ -3 @) (=5 73) 4 @1
35. The number of rotational symmetries a rectangle has is :

(1) 1 2 2 3) 0 (4) Infinitely many
36. Which of the following statements is true ?

(1)  Every trapezium is a parallelogram

(2) Every parallelogram is a rectangle

(3) Every equilateral triangle is an isosceles triangle

(4) Every rhombus is a rectangle
37. 1sq.cm =

(1) 10 mm (2) 10 sq. mm (3) 100 sq. mm (4) 1000 sq. mm
38. The total number of platonic solids are :

(1 1 2) 3 3 b5 4) 7

39. The probability of getting 2 heads in 3 tosses of a fair coin is :

- il

x| W

1
1) @ O )
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490.

41.

42,

43.

44.

Number of persons earning more than Rs. 2500 per month is :

25 F
2]
5
é 20+
e 151
2 10T
o}

500 1000 1500 2000 2500 3000 3500 4000
— Income in Rs/month

(1) 13 (2) 12 (3) 50 (4) 25

Ravi bought a watch for Rs. 520, which includes sales tax. If the sales tax is Rs. 20, then the
percentage of sales tax is :

1) 5% Q) 4% 3) 10% 4) 20%

A bowl contains eight balls. Three balls are red and the remaining five are blue. Two balls
are drawn successively at random without replacement. The first ball drawn is red. The
probability that the second ball drawn is blue is :

5 3 5
@M = 2 3 G @ 3

Ajit borrowed Rs. 5000 from Bala for 2 years. If Bala charges 12% simple interest per annum,
how much will Ajit have to return after 2 years ?

(1) Rs. 1200 (2) Rs. 6200 (3) Rs. 5120 (4) Rs. 5600

If the mean of the observations x, x+3, x+5, x+7, x+10 is 9, the mean of the last three
observation is :

(1) 10% (2) 10—?— €) 11% 4 1

WIN
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45.

46.

47.

48.

49.

50.

A trader increases the price of a T-shirt by 20% and then gives a discount of 20% on the new

price. The net result is :

(1)  There would be no change in the original price

(2)  There would be a decrease of 4% in the original price
(3

(4)  There would be an increase of 4% in the original price

[88)

) There would be an increase of 44% in the original price

If P(A)=0.7, P(A n B)=0.3 and P (A€ n B€)=0.2, then P(B) is :
(1) 03 (2) 0.5 (3) 0.4 (4) 0.8

Weights (in grams) of 25 apples picked at random from a basket are given below :
90, 105, 50, 55, 48, 85, 90, 100, 75, 85, 125, 105, 115,

80, 75, 73, 48, 65, 70, 69, 65, 60, 55, 80, 75

The number of apples in the class interval (70—79) is :

(1) 5 2) 6 @) 7 4) 8

If a bag contains 10 white balls and 5 black balls, then the probability of drawing a white ball

1S :

1 1 1

(1) (2) G T (4)

W[

By selling a coat for Rs. 630, a shopkeeper gains 5%. The cost price of the coat is :
(1) Rs. 600 (2) Rs. 610 (3) Rs. 615 (4) Rs. 625

Radhika purchases 500 shares of a company which pays 7% annual dividend of par value
Rs. 10 each. The annual dividend is :

(1) Rs. 350 (2) Rs. 700 (3) Rs. 500 (4) Rs.35

OMT-101 10



1. 3 afa ok IR 8 fed H 9 €1 A% €t <aR 8 st fohan Tl § g ?

1) 3fead ) —gfﬁﬁ' 3) gﬁﬁﬁ' @4) 4afaH

2. 18 (=2x3x3),12 (=2x2x3), 42 (=2X3X7) Td 126 (=2x3x3x7) &I I TS ¢ :
(1) 2x3x7 (2) 2x2x3x7 (B) 2x3x7x7 (4) 2x2x3x3x7

3. (41—31)'@?11%:

> 3
1 1 7 1
@ 3 2 < G 3 @ 1z
4. Afen TH fawm quiw g @ Fafafed § @ 9@ gen faom g 2
(1) n+1 (2) n—1 (3) 3n+1 (4) 4n+1
5. T Al @ ¥5d 3 & foe =i § 9 s wse sme T8 e ?
(1) vHa () wEfag (3) ARTEE (4) YA
6. 4+6+(7—4)FIAFT :
10 3 6
O 3 2 6 G 19 - @ 5
7. Trafafes genet § ged s e e
3 2 3 4 4 11 11 f
O 3¥23 @ Iy O Ty @ Iy

8. 31416 TE-YEN W el g ?
(1) YuiEeEnsii3 e 4 & &g (2) YUl —3TH —4 % o

(3) wmﬁmaﬁv&ﬁam%% (4) 35TH45% &=
9. 3l &I fa@™ I S YU g9 3Tl STANT H oid € 98 © -

(1) feg-nfoasw 3% yomett (2) ST Yoet
(3) EEel i fafew yoret (4) ARG 3% gore!
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10.

11.

12.

13.

14.

15.

16.

17.

18.

fendt feramera & 10 o= A el FHIS 9841 €, 25 7 &0 S Tl €, 30 7 oIt 9o 99 35 =4 F qreft
FHHS Ugt § 1 T gfaerd s 3 ot wHS ggAl § 7

(1) 28.7% 2) 39.4% 3) 10.0% 4)  30.0%
fordht famr &1 <3Ian § o forelt qui = &1 foraa @i & faunfsr fovan mn €2
(1) 2 = (3) Eyol e (4) T
o8 Tivae 8 sfafa st s Sg St ag B

(1) T (2) R (3) Y 4) g
P_a _

RS

(1) -pq ) pq 3) p>-¢q° 4) p-q

10 faenfedi # 9 5 faenfeal 1 =g foaq fus aiienl g foran s gear 22

(1) 242 (2) 252 (3B) 272 (4) 282
. 31 1 1 .
Ijgl TS o A Aot <l < % :
16" 8" 12" 18
) = A 3 > @ =
(xy +3)10 % TER § HeT U B
(1) (y+3)° (2) C (10 5) (x93
(3) C(Q0, 6) (xy)°3* (4)  C (10, 6) (xy)* 3°
frefated o & T Toia 9oft 82
1
(1) 2,6, 18, 24, @ 2551, ¢,
(B) 2,4,6,8, (4) 3,9, 81, 729,
g (23x52x 743 x (24x72)2=2ax 5b x 7€ ¥ :
(1) a=17,b=6,c=16 (2) a=17, b=5, c=16
(3) a=43, b=8, c=68 @) a=17, b=6, c=48

OMT-101 12



19.

20.

21,

22,

23,

24.

25,

26.

27.

1 - 1 1
@M 3 @ 277 3 =2 4 3
S fHH G.P. % 92 32 %9  forg W ¥ 4 5 et goft gt
(1) AP (2) GP. (3) H.P. 4) Tl sy
FATR ST T A1 FAT Fensi w7 @ 150 3, 3T weAey Hem §
1) 50 2) 10 (3) 30 (4) 60
3 SYHAE ST T (0.99) T WhTHE 7 ¥
(1) 1.000 (2)  0.950 (3) 0.951 4) 1.001
El‘g"‘ﬁ;1c2y3z+3c4~t-y5+xzzTﬁ @ R
1 5 2) 4 @) 3 4) 6
TUIRR St 256, 64, 16, 4, _ T HH ST ¥

1

1) 4 @ 7 (3) 1 4) 12

forel 10 f. =g F e =z 03 A TH U g 3 B OA=6cm B 1 A 5 Fetfiy
(1) =1 Fafor feq M0 1l % emam o 76 frar o we

(2) 9% 3tfaRes g A )

3) TOH FW T

4) IAF TR

Wwﬁa@ﬁﬂﬁﬁ,ﬁ@mﬁwﬁ%mm%ﬁmﬁmﬁ?
1) 4 2 3 G) 2 4 1

10 9. a1 qer 21 &, S9E ¥ ViF F e &
(1) 2200 & A=y (2) 6600 TF Tty
(3) 210 w7 A<ierex (4) 4620 =7 <y
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28.

29,

30.

31.

52.

33.

34.

35.

afe fag P fdwi (-5, —1) ¥

(1) 37 A P E g 5 7T ol A a3 F S

(2) 318 A P H g 5 THE ¢ N T 2~ & A T

(3) y-FTAPH T 1THE T

(4) y-FE AP F W 5THE €

farer el Frem U R 1 A FIeA e @ FEEArd ¢ :

(1) WAL (2) faom qefta Y@ (3)  @veed Wl (4)  ETE

ferw e ot 9 Y W HSA R

A
< :
B

N

D

(1) 10 2 6 3) 8 (4) 4
(1,2)@(1,3)@rfqaﬁareﬁ’c@w :
(1) x-3& F THIAR T (2) y-3e F WA R

(3) AW r-EF EARET, Dy-FAF (4) o forg | oA €
aﬁ(z,—1)1%@:13@%@(—1,S)ﬁWﬁW%@mnwﬁg%a‘tP%ﬁ%&Wif:

M (%2] @ 6 -7 ©) (%—3) @ (-7,

300 X TETE qe 200 HeX el F UH FAFAHRR TA F HH 5000/- T gfa TR R WA
B
(1) 30,000 ®. (2) 3,00,000 %. (3) 30,00,000%  (4) 12,000 %.

Fretferfiaa o & B9 @ feig R (1) Sgafe § ferd §72

(1) (=6, -9 2 @ -3 @) (=5 %) 4 @O
foplt 7T T U EEfATa B e €
M 1 2 2 3) 0 4) o=
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36.

37.

38.

39.

40.

41.

42.

Frefafed 8 9 Siar wom 99 2
(1) Y% gace T GHIR Fq § (2) T GHIR TGS T o B
(3) g% wHAg e e wulgeg v ¥ (g) TS A TF N &

137 HeHer =

(1) 10 fieft Hiex (2) 1097 Hieft Hex

(3) 100 = fiyeft Hex (4) 1000 5 faeft Hiex

T 3l w5 e wem

1 1 @ 3 3) 5 “4) 7

T A (f7oaer) foees &1 3 o) 91 W 2 faq o =t wiftred & -
1

| W

1 i
&) @ 5 NORA )

o 7 2500 %. sl @ aifues oy e safwel =1 g S

2T

e

20T
151

10T

5_-

—> a3l i

—

500 1000 1500 2000 2500 3000 3500 4000
— (T H) 3 yfaarg
1) 13 2) 12 (3) 50 (4) 25
Tﬁ%wa@ﬁszoaﬁ@ﬁaﬁaﬁﬁaﬁm%ﬁmélwﬁﬁﬁmzoa%aﬁﬁaﬁaﬂw

Qﬁfﬂﬁ%:
1) 5% 2 4% (3) 10% (4) 20%

T fed o a1 A &1 ol @ o7 2 ofrer oik 3w v 2 et T 9§ < W sz faem anfir
T g I3E TS| frepreft 7 weett g oot %1 a9 g g Ao B w5 W ¥

5 3 15 5
(1) 7 (2) 3 3) 56 (4) 3

OMT-101 15 P.T.O.



43. aifSa ¥ sen ¥ 299 & forw 5000 €. suR A afe smen s 12% arfvs @R <A o df 2 94
wyad eAfera & faat afer et B ?
(1) 1200 %. (2) 6200 . (3) 5120 %. (4) 5600 %.

44. TIUN x, x+3, x+5, x+7, x+10 1 HIEA 9 T 3w Y0l 1 WIEA ¥

2 1
10 — 11 =
@ 103 @) 113 4 u

WIN

45. T U TF FHS F G F 20% F 9fg FH T GeT W20% L I a1 8| TROTH HE
(1) Rfus gea § %1 qRadd =&l g
(2) T, TR o T qET | 4% FH & S|
(3) Ted, Wi e HT o H 44% 3T & S|
(4) T, IR qF | 4% A 2 S

46. AT P(A)=07, P(A ~ B)=03 7 P (A€~ BS)=02, @ P(B) F1 W @ :
1) 0.3 2) 0.5 (3) 0.4 4) 0.8

47. TF TE0 § AfE w9 W 31T M 25 Tl F (w ) 9r A few e g
50, 105, 50, 55, 48, 85, 90, 100, 75, 85, 125, 105, 115, 80, 75, 73, 48, 65, 70, 69, 65, 60, 55, 80,

75
(70—79) 57t § T aTet Al I G F
1) 5 @) 6 @) 7 (4) 8

48. 9fz TF 9 H 10 TS ¢ 1R 5 el 18 €, 76 Th qhe Tig (TohTe w1 Wigehar §

2
m 3 )

1 1
G T @ 3

B | =a

49. TH PR 630%. F AT T Teh GHFEH FHI 5% H AT A1 €1 FIE H HIH © :
(1) 600 =. 2) 610%. 3) 615 %. (4) 6257

50. fehl I TH FEE F 500 R WA F9E W FTHA 7 10 T F HAEH W 7% AfUE A1 =i
IR Cea kol R e GG EACICINES
(1) 350 %. (2) 700 %. (3) 500 %. (4) 35%
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